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1. Aseat marked with Reg. No. will be alloted to each student. The student should ensure that he/she
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2. Studentcan notuse log tables and calculators or any other material in the examination hall.
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3. Student must abide by the instructions issued during the examination, by the invigilators or the centre
incharge.
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4. Before attempting the question paper ensure that it contains all the pages and that no question is
missing.
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5. Each correct answer carries 1 marks, while one third mark will be deducted from the total of individual

subject for eachincorrectanswer.
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MAJOR TEST : AIIMS

CAREER INSTITUTE
[KOTA (RAJASTHAN

PRE-MEDICAL : ENTHUSIAST, LEADER & ACHIEVER COURSE

19-05-2013

HAVE CONTROL — HAVE PATIENCE — HAVE CONFIDENCE = 100% SUCCESS

(BEWARE OF NEGATIVE MARKING )

1.  Standard electrode potential data are useful for | 1.  0ONODNIOTIO0NIIDIOONO0OOIO00DOONO000
understanding the suitability of an oxidant in iididioitiooiolooomoimooidor o
a redox titration. Some half cell reactions and dio0noooiOimooiooolitiorooIboiom
their standard potential are given below :- MnO, (aq) + 8H+(aq) + 5¢' - Mn**(aq) +
MnO, (aq) + 8H"  + 5¢”' — Mn**(aq) + 4H,0(¢) ; E° = 1.51V
4H,0(¢) ; E° = 1.51V Cr2072‘(aq) + 14H+(aq) + 6e — 2Cr’*(aq) +
Cr,0.°(aq) + 14H*  + 6e — 2Cr’*(aq) + TH,O(¢); E° = 1.38V
TH,0(0); E° = 1.38V Fe**(aq) + e — Fe?(aq); E° = 0.77V
Fe¥(aq) + ¢ — Fe?(aq); E° = 0.77V Cl(g) + 2¢” — 2CI(aq); E° = 1.40V
ClL(g) + 2¢” — 2CI'(aq); E” = 1.40V O0iFeNO,), DO0OI0DIONIIIOOOOIIOON
Identify the only incorrect statement regarding 000I000I0INon
the quantitative estimation of aqueous Fe(NO,), (1) OOIHCI (MO~ 000D 000
(1) MnO," can be used in aq. HCI i 4 i -
(2) Cr,0.> can be used in aq. HCI ?2) DD%D_HCI [ICr,0,” D[DDDU]:[[]DDU:DU__DDD[_DD
(3) MnO,” can be used in aq. H,SO, 3) OUIIH,so,[IMnO,” WIOOIMIOOTOCO0OI00
(4) Cr,0,> can be used in aq. H,SO, @ OUIIH,SO, Icr,o,> DN IDOIOroomd

2.  Dissolving 120g of urea (molecular wt. 60) in | 2. 120 UIIUIOOODIIeo00I 000 DIODDIMTIION
1000g of water gave a solution of density flDOnobooiooarmoiilas g/m O0OIOONOO
1.15 g/ml. The molarity of the solution is :- (0o0ooononom
(1) 1.78 M (2) 2.00 M (1) 1.78 M (2) 2.00 M
3)2.05M 4) 222 M 3)2.05M 4) 222 M

3.  Elevation in boiling point of an aq. solution of | 3.  UIII0INOIDOINIOOO0OIDOIOONIIIIN0.52
urea is 0.52 (K, for water = 0.52K molality™). IMOUIONO0K, = o.52K OO0 0OMOOCO
The mole fraction of urea in this solution is:- Qiiooomonoimoioiom
(1) 0.98 (2) 0.0567 (1) 0.98 (2) 0.0567
(3) 0.943 4) 0.018 (3) 0.943 4) 0.018

4.  Weight of oxygen in Fe,O, and FeO in the | 4.  HHIIOIDIIIOIOIO0Fe,0, DIFeO TTIOOM
simple ratio for the same amount of iron is:- Qiiiononbioodonm
(H1:2 2)2:1 (H1:2 2)2:1
3)3:2 @1:3 3)3:2 @1:3

5.  For the given cell, 5. DDiOOnoomooo
pt, CL/HCI||HCI/CL,, pt pt, CL/HCI||HCV/CL, pt
(Ilatm) C, C/(1 atm) (Iatm) C;, C/ (1 atm)
The emf will be positive when :- emf D0I00I0ION OO0
(1 ¢, >C, @ C,>C, (1 C >C, @ C,>C,
3)C, =C, (4) None of these (3) C, =C, (4) D0O0OIOMIOO]

6.  What volume will be occupied by a sample of | 6.  UUIMIU20°C U750 mm pg OOD00250 mL
gas at 40°C and 720 mm ug if its volume at 1110740°C 0011720 mm pg UINOMTOT OI000700
20°C and 750 mm pg was 250 mL? o
(1) 278.19 mL (2) 378.19 mL (1) 278.19 mL (2) 378.19 mL
(3) 400 mL (4) 187 mL (3) 400 mL (4) 187 mL

(E/H/J
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What is bond enthalpy of XeF bond ?

MAJOR TEST : AIIMS

TARGET : PRE-MEDICAL 2013

19-05-2013

XeF,(g) = Xe*(g) +F(g) + F,(g) + F(g);
AH = 292 KCal/mol

Given :

LE. of X = 279 KCal/mol.

B.E. (F-F) = 38 KCal/mol.

E.A of F = 85 KCal/mol.

(1) 24 KCal/mol (2) 34 KCal/mol
(3) 8.5 KCal/mol (4) 54 KCal/mol
For the hypothetical reaction

A,(g) + B,(g) = 2AB(g)

AG°and AS°are 20 kJ/mol and —20Jk™
respectively at 200K.

If AC, is 20 JK™' mol™" then A H°at 400 K is:-
(1) 20 kJ/mol (2) 7.98 kJ/mol
(3) 28 kJ/mol (4) 16 kJ/mol

mol™

A reacts according to the following n I* order
reaction simultaneously :-

/’i

A—K,_
\\A

~d[A]

Then at 1S :-

(1) [A] [ZKJ @ YKl
n k n
B — Yk

OPyy @ a5

In a solid 'AB' having the NaCl structure 'A’
atom occupy the corners of the cubic unit cell.
If all the face centre atoms along one of the axes
are removed then the resultant stoichiometry of
the solid is :

(1) AB,
(3) A,B,

(2) AB
(4) AB,

7.

10.

XeF LI00I0I0NOI0NMmIIo0T0m

XeF,(g) = Xe*(g) +F(g) + F,(g) + F(g);
AH = 292 KCal/mol

[00nom

X, UILE. = 279 KCal/mol.

F-F UI00ITOHI= 38 KCal/mol.

F UIE.A = 85 KCal/mol.

(1) 24 KCal/mol (2) 34 KCal/mol

(3) 8.5 KCal/mol (4) 54 KCal/mol

A (g) + B(g) = 2AB(g) D0I0MOIOOIOMION
0200 K 000 AG°UIZ Ase OO0 20 kI/mol LI
—20Jk™" mol™ [

DHD:AGC is 20 JK™! mol™" 400 K DDDAFH i

(1) 20 kJ/mol (2) 7.98 kJ/mol

(3) 28 kJ/mol (4) 16 kJ/mol

A, n JIIOIIOIOIDIDIoonomonn
[moooOootnom

K,
/A
A

\AA

—d[A]
i & 0

() [A](.n kij

n kl
3) E[A,]

NaCl UIOU0DOMAB TIDT A DO 000
O0OOOmmiOmmo oo onodmo:
UIIi0noO00 00T ool dmad fooroion g
Jonio0roomon

) iki[Ai]

n

1
@ a5

(1) AB, (2) A,B

(3) AB, 4) AB,

Yowr Target is to secare Good Rank in Pre-Wedical 2015

|E/H




11.

12.

13.

14.

15.

16.

17.

(E/H/J

CAREER INSTITUTE
ceia JROTA (RAJASTHAN

MAJOR TEST : AIIMS
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At 25°C, the solubility product of Mg(OH), is
1.0 x 107", At what pH, will Mg** ion start
precipitating in the form of Mg(OH), from a
solution of 0.001 M Mg* ions :

(1) 8 2)9
(3) 10 4) 11
50 mL of 0.1 M NaOH is added to 75 mL of

0.1IM NH,CI to make a basic buffer. If pK  of
NH," is 9.26 then pH will be :-

(1) 4.44 (2) 9.56
(3) 4.74 (4) 9.26

For which of the following solutions must we
consider the ionisation of water when
calculating the pH or pOH :-

(1) 0.10g HCl in 1.0 L of solution

(2) 0.080g of NaOH in 0.5L of solution

(3) 3 x 10°* M HNO,

(4) 1 x 10° M Ca(OH),

For the reactions :-
NH,*+2H,0==NH,0H+H,0", K, =5.56x10""
H,O + HO == H,0" + OH, K, = Ix10™"
hence K, of the reaction

NH,OH (aq.) == NH," + OH" is.

(1) 1.8 x 10° (2) 1.8 x 107

(3) 5.56 x 10* (4) 5.56 x 107*

pH at which a basic indicator with

K, = 1.0 x 107" changes colour when the
concentration of indicator is 102 M :-

(1) 10 2)7 3) 4 “4) 8
Which is not correct order of given property :
(I) HF < H,0 < H,0, (Extent of H-bond)
(2) D,O>H,0 (Strength of H-bond)
(3) Ne < Ne* (Ionisation potential)
4) Ag > Au > Cu

Which of the following is not a chelating
ligand :-

(Conductance)

(1) Desferrioxime-B

(2) D-penicilamine

(3) Dimethyl glyoxime
(4) Triphenyl phosphine

11.

12.

13.

14.

15.

16.

17.

25°C U0 Mg(on), UIIOOOII00000 1.0 x 107
0o.oo1 M UIOOIOITEOIOIOOIpH U0 Mg(OH),
{iddidimg> UDOIDONIOoIOrOnIrIooo -

(1) 8 2)9

(3) 10 4) 11

50 mL, 0.1 M NaOH [ 0I00 000000000
{00175 mL, 0.1M NH,C1 J000I0HIIMIT 0000
UlpH UIOIIOOOOOING, Olpk, OI0I9.26 OO

(1) 4.44 (2) 9.56

3) 4.74 (4) 9.26
[DIoIDIOOoiUIOUNoboodrodipH UllpoH I
UniiOroboioooiiODoitUOoDOo
[aoo:-

(1) 0.10g HCl in 1.0 L of solution

(2) 0.080g of NaOH in 0.5L of solution

(3) 3 x 10° M HNO,

(4) 1 x 10° M Ca(OH),

Qirooomoorog .-
NH,*+2H,0==NH,OH+H,0", K, =5.56x10""
H,O + HO == H,0" + OH, K, = Ix10™"
OnioinomOononook, O

NH,OH (aq.) == NH," + OH" is.

(1) 1.8 x 10° (2) 1.8 x 107

(3) 5.56 x 10* (4) 5.56 x 107

JZ0OC00OIK, = 1.0 x 107 OllpH 00000
Quorioioioooontrimondnmniriioes M
OGH

(1) 10 2)7 3) 4 “4) 8
DION0ON00ICOM N0 0 O 0000010 O
(1) HF < H,0 < H,0, (H-0ION000
(2) D,0 > H,0 ¢ Suluimuilnlinaln
(3) Ne < Ne* 0000000000

4) Ag> Au>Cu 000000
00010000 00 O 0000 00000 O
(1) 000000I0000-B

() D-0I00000

(3) DOIMI00I0000000

(4) lIUDOIUDOD

Your Target io to cecane Good Rank in Pre-Medical 2015
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21.

22,

23.
24.

25.

26.

27.
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Which of the following can not decolourise the
acidified KMnO, :
(1) Nitrite

(3) Formic acid

(2) Mohr salt

(4) Ferric alum

No. of ¢ and m bond in calcium cyanamide are:-
12,3 21,3

3)2,2 “4) 3,1

Incorrect order of stablility is :

(1) Mn** > Mn** (2) Cr** < Cr*

(3) Cu** > Cu* (4) Ni** < Ni*™*
Lithium is stronger reducing agent than sodium
due to :

(1) High sublimation energy

(2) High ionisation energy

(3) High hydration energy

4) All

CeO, is :

(1) Diamagnetic

(2) Colourless compound

(3) Oxidising agent

4) All

Cgraphite + HNOS(concA) B 'P' :

How many n bond present in product 'P'
(13 2)6 3)9 “4) 12

Aqua regia dissolve platinum due to :

(1) Nascent oxygen (2) Nascent chlorine
(3) Naseant Hydrogen (4) NOCI

Incorrect order according to the property is :
(1) (CH,),SO, > H,SO, (Volatile nature)
(2) HNO, < H,SO, < H,PO, (B.P.)

(3) HF > NH, > H,O (B.P.)

(4) HCI > HBr > HI (Vapour pressure)
Incorrect order of ionic character :

(1) Calomel > Corrossive sublimate

(2) Litharge > Galena

(3) Philosopher's wool < Black Jack

(4) Stannic oxide < Stannous oxide
Incorrect order of solubility is :

(1) BeF, < MgF, < CaF, < SrF,

(2) BeSO, > MgSO, > CaSO, > SrSO,

(3) AgF > AgCl > AgBr > Agl

(4) Lil > LiBr > LiCl > LiF

18.

19.

20.

21.

22,

23.

24.

25.

26.

27.

[Hoooinitimaiti0ikmno, 000000000l
Qo0noL:d

(1) U00ma (2) 00T OO

(3) UldIam @ Ul0iomOoodimo
UMNDOlOm0Ddidle 00l = LIOOMO00ODOLY
(H 2,3 21,3

3)2,2 4 3,1

AN A OB

(1) Mn** > Mn** (2) Cr** < Cr*

(3) Cu** > Cu* (4) Ni*? < Ni**

O 8 A M
0000z

(1) UirUmooloomar
(2) 0000000000000
(3) Dl0IDOIOoomao:
(4) O

CeO, L]

(1) Dl0I0OIO

(2) L00I000ImAa

(3) UiOiooooom
(4) O
Corptire + HNOy gy —> 'P'

000l <p> 00000000« OODDOMODO0OL:E
()3 2)6 3)9 4) 12
aiooonomiiionroiimIan

(1) D00M0IHoodn (2) U000Ioamo
(3) D0UOI0DOMa (4) NOCl
[D000000OmolOoiooniooio0in)

(1) (CH,),SO, > H,S0, 00000000
(2) HNO, < H,SO, < H,PO, goooniaa

(3) HF > NH, > H,0O {I(B.P.)

(4) HCI > HBr > HI 0ondonmoo
{iiidioinroroborooni:a

(1) Calomel > Corrossive sublimate

(2) Litharge > Galena

(3) Philosopher's wool < Black Jack

(4) Stannic oxide < Stannous oxide
[oo0IoIooooom

(1) BeF, < MgF, < CaF, < SrF,

(2) BeSO, > MgSO, > CaSO, > SrSO,

(3) AgF > AgCl > AgBr > Agl

(4) Lil > LiBr > LiCl > LiF

Yowr Target is to secare Good Rank in Pre-Wedical 2015
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30.

MAJOR TEST : AIIMS

) ALREN | PRE-MEDICAL : ENTHUSIAST, LEADER & ACHIEVER COURSE |(19-05-2013
CH-CH-CH-CH, 221, A——B 2 | 28 CH-CH-CH-CH, oy A 5B 2
Br Br Br Br Br Br Br Br
(D) CHS_(Ij:(Ij_CHS (1) CHs—(Ij:?—CHs

H Br H Br
2) CHZZ(I:—CHZ—CH3 2) CH;(Ij—CHZ—CH3
Br Br
(3) CHs—(I?H—CH:CHZ (3) CH3—(I?H—CH:CH2
Br Br
(4) CH,—-CH=CH-CH,-Br (4) CH,—-CH=CH-CH,-Br
Br Br
CH, H CH, H
c. dilute c. dilute
A A —wo > B? | 29. A > A —wo > B?
CH; H CH: H
H H
B is :- B UL}
(1) Meso compound  (2) Racemic mixture (1) 00000 (2) [0iooioom
(3) d-compound (4) May be only d or / (3) d-0Ma 4)d Ulv JI00O0OO
9) 0]
Il Il
C-CH, C-CH,
@i —NOH_, 9 30. @i __NaOH 9
ﬁ—OCH3 ﬁ—OCH3
0] 0]
9) 0]
I 0 Il 0
C-CH, C-CH,
(D @i () (D @i ()
C-ONa ﬁ—ONa
S 0 0 ©
CH, OH. ,CH, CH, OH._CH,
3) @fPo 4 @:'>0 3) o @ O
0 0 0 0

(E/H/J
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MAJOR TEST : AIIMS

CH, CH,
(1 [::j::] ) [::i::]
COCH, CH,~NH,
CH, CH,
COCH,
3) 4
CH,~COOH

TARGET : PRE-MEDICAL 2013 19-05-2013
Cl ® Cl ®
31. CHCH{ +2NaCN—> A—355>B |31, CH-CH{ +2NaCN—> A—1-> B
Cl Cl
“—>C—35—>D? “—>C—35—>D?
(1) CH~C-OF: (1) CH~C-OF:
(2) CH,~CH,-C-OE (2) CH,~CH,-C-OE
O O
(3) CH,-CH,CEt (3) CH,~CH,CEt
(4) CH,-CH,~O-CH,CH, (4) CH,-CH,~O-CH,CH,
32. CH-C-CH,-CH, secoor> B —ae— C: | 32. CH.~C-CH,~CH, secoon B i C:
0]
(A) (A)
Incorrect statement about A, B and C :- A, B [UlclO00IO0I0IOMoIoGE:
(1) A and B both gives iodoform test (1) A 0UIB D OOOIOolooroonoiro4
(2) C can be obtained by B reacting with lucas (2) ¢ UIB DONODOIOMUoOiDmlorooodn
reagent i
(3) B is Isomer of Iso butane (3) B UIUN000IOI000000N0O
(4) B reduces Tollen's reagent but A not (4)B J00ONO00NMO0D0MI0OImoD ADO
CH,—~COONa . CH,—~COONa .
3. @ _on 3. @ _on
B £2>C(M@m)? B £2>C(mmb?

CH, CH,
(1 )
COCH, CH,~NH,
CH, CH,
COCH,
3) 4
CH,~COOH

| 6/36 |
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MAJOR TEST : AIIMS

sa) A= =% | PRE-MEDICAL : ENTHUSIAST, LEADER & ACHIEVER COURSE |(19-05-2013
(i) NaBH, A (i) NaBH, A
00 (i) H° R (ii) H”
34. 0 — 34. 0 — ;
H,/Ni/A H,/NVA
L > '~ B ——— B
A & B are :- AUlB G
O O O 0O
M mom M mom
HO-CH,—CH,—CH, HO-CH,-CH,-CH,
O _O O 0O
@ mom @ mom
HO_ o HO_ O
HO HO
0
3) j} : 3) j}o”
HO-CH,~-CH,~CH, HO-CH,-CH,-CH,
HO_ o HO_ O
OO OO
@) mom @) mom
HQ HQ
DOH OH
HO-CH,—-CH,~CH, HO-CH,~CH,~CH,
35. Which is maximum acidic :- 35. UMOMmOooiOiomoion:
OH OH OH OH
NO, CH, NO, CH,
M 2) ey 2
OH OH
OH OH
3) “4) @ 3) “)
OCH, OCH,

( 000000 0000 000 000D Conooonon Qichonon doom )

(E/H/J
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MAJOR TEST : AIIMS

JALLEN TARGET : PRE-MEDICAL 2013 19-05-2013
36. A —™19% 5 stable hydrate :- 36. A —20, (0000000 -
'A' may be :- ‘A JI000D0E:
(1) CC1,-CHO (2) CH(—C-H (1) CC1,-CHO (2) CH—(C-C-H
(3) F-CH,-CHO 4) All (3) F-CH,-CHO (4) O
37. Protein are the polymer of :- 37. UiINoooooogioe:
(1) y-amino acid (2) a-amino acid (1) y-amino acid (2) a-amino acid
(3) B-amino acid (4) None of the above (3) B-amino acid (4) 0000000100000
38. Which is optically active :- 38. [MDOmmoooonE
Br CH3 Br CH3
H CH, o~ CH, H CH, CH,
(D (2) (1) )
CHz H CH; H
Br CH3 Br CH3
CH3 CH
Br 3
H H—F—8r o H—]Br
3) H 4) 3) H (4)
Br H CH—F—H Br H CH——+—H
Br Br
CH, CH,
39, H I D aq NaOH > 9 39. H I D aq NaOH > 9
Cl Cl
CH, CH,
(1 H-—D (1 H-—D
OH OH
CH, CH;
(2) H———OH (2) H—1—OH
D D
CH, CH, CH, CH,
(3) H—F—OH + HO H (3) H—7—OH + HO H
D D D D
CH, CH,
(4) HO H (4) HO H
D Db~
40. Hydrolysis of ester in presence of base :- 40. [IiOICOODIDIODODOOONOOOD00O -

(1) is reversible
(2) not possible

(3) is soaponification
(4) gives acid and alcohol

(1) DO0roion
(2) Uroiotnog

(3) Lio0oIron
(4) JI0DI00I00ODOINOT0d

| 8/36 |
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45.
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MAJOR TEST : AlIMS

PRE-MEDICAL : ENTHUSIAST, LEADER & ACHIEVER COURSE

19-05-2013

Which one is incorrect for chemosynthetic

autotrophic bacteria :-

(1) Oxidise various organic and inorganic

substances

(2) Uses the energy released through oxidation
for their ATP production

(3) Play great role in recycling of nutrients like

nitrogen, phosphorus, iron and sulphur
(4) They are most abundant in nature
Choose the incorrect match :-
(1) Ascomycetes — Used in genetic work
(2) Deuteromycetes — Rust and smut fungi
(3) Basidiomycetes — Lack sex organ
(4) Phycomycetes — Aquatic habitat
Which of the following is incorrect statement:-

(1) Free central placentation found in Dianthus

and Primrose

(2) In gymnosperm, the male and female
gametophyte have an independent free-living

existence

(3) Phellogen, phellem and phelloderm are

collectively known as periderm
(4) Break down of glucose to pyruvic acid is called
glycolysis
Which of the following is not related with
Rhodophycease.

(1) Food is stored as floridean starch

(2) They reproduce sexually by non-motile

gametes
(3) Predominance of r-phycocyanin in their body
(4) Show complex post fertilization development
Identify the correct statement :-

(1) Alimentary canal of amphibian open through

anus at posterior end
(2) Birds have three chambered heart
(3) Birds are Poikilotherms

(4) Gills of clarius are operculated
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In which one of the following animals notochord
is present in adult stage also :-

(1) Ascidia

(2) Ichthyophis

(3) Both 1 and 2

(4) None of the above

Jute, Flax, Cotton, Sisal hemp, Munj.

How many of the above given examples are bast
fibres :-

M1 2)2 3)3 4) 4
Water lily, Water hyacinth, Zostera, Maize,
Vallisneria, Yucca, Viola.

How many of the above given examples are
hydrophilous :-

(H1 (22 33 “4) 4
Descending imbricate aestivation is found in :-
(1) Brassicaceae

(2) Fabaceae

(3) Liliaceae

(4) Asteraceae

Which of the following statement(s) is/are correct
without any exception?

(A)In animal tissues, specialised junctions
provide both structural and functional links
between its individual cells.

(B) In animal tissues, the cells secrete fibres
(C) RBCs are devoid of nucleus in all mammals

(D) The number of cervical vertebrae are seven
in all 'eutherian' mammals.

(1) A and B

(2) Cand D

(3) Only B

(4) None of the above

Which one of the following match correctly
shows the organism and its features?

(1) Frog - External ear and urethra
(2) Earthworm - Muscular gizzard and clitellum
(3) Cockroach - Siphoning type of mouth part

(4) Human - 10 pairs of cranial nerves and

monocondylic skull
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Identify the figure (a) and (b) show below. Select
the correct option with their event :-

Options
Figure Events
(1) [(b) |Anaphase-I |Separation of
homologous
chromosomes
(2) |(a) |Metaphase-I|{Chromosome lost their
identity

Bivalent chromosome
align on the equatorial
plate

(3) |(a) [Metaphase

(4) |(b) |Anaphase |Centromere split and

chromatids separate.

Cotton plant is resistant to jassids, due to which
morphological character :-

(1) Solid stem

(2) Large leaf size
(3) Hairy leaves
(4) Bad smell

Wheat plant is resistant to cereal leaf beetle pest,
due to which morphological character :-

(1) Solid stem

(2) Large leaf size
(3) Hairy leaves
(4) Bad smell

'Pusa komal' veriety is resistant to Bacterial blight

disease. It is a variety of :-
(1) Wheat (2) Rice

(3) Chilli (4) Cow pea
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During evolution which organism deposits and
convert in to present days coal :-

(1) Angiosperms
(2) Dicotyledons
(3) Bryophyte

(4) Pteridophytes

If in symbiotic nitrogen fixation host plant provide
all the ATPs, gained by complete oxidation of
1 glucose, for the fixation process, then how many
NH, molecules can be produced by N, fixation ?

(1) 2NH, (2) 8NH,
(3) 4NH, (4) 16NH,

The cyclic photophosphorylation takes place
during photosynthesis :-

(1) to maintain the stroma lamellae active

(2) to utilise the ultraviolet radiations which may
be harmful to chloroplast

(3) Probably to meet the difference in number of
ATP and NADPH used in the biosynthetic
phase

(4) to use the light of wavelength < 680 nm
which can not be used by noncyclic
photophosphorylation

The critical photoperiod for 4 plants is given
below :

plant 'A" = 12 hrs.
Plant 'C' = 11 hrs

Plant 'B' = 15.5 Hrs
Plant 'D' = 13 hrs

(1) Plant 'C' flowers when it receives more than
11 hrs. of light

(i1) Plant 'A' flowers when it receives a minimum
of 12 hrs. of light

(iii) Plant 'B' flowers when it receives about 10-
12 hrs. of light

(iv) Plant 'D' flowers when it receives maximum
of 13 hrs. of light

Which of the above plants is/are not the long day
plant(s) ?

(1) only plant A (2) plant A and C

(3) only plant D (4) plant B and D

56.

57.

58.

59.

(10010000 DI LI 0 oioihaoooo Dooo oo ao
goniIooolbibuorarooolboooo .-

(1) U0
(2) [00Ioo0o
(3) 0l00mo
(4) 00000

(IO00OrOoDooroimOnIiomoiHosty oo

1 [00Higroor bionlooonoronor b oo

[oimO0moICONCrOoOooD dmdN, ITndimia
]

000N, O0oomioonnooomoe
(1) 2NH, (2) 8NH,
(3) 4NH, (4) 16NH,

1 A 0 A
0L

(1) NI UOdr oo oonnonranog

(2) DIDDIOioool drooobrOooi ool onim
Joodoaroiooiorolmoonrio

(3) UI0O0 CmmoooomrnoorrpIoo0ooor arg
ATP JIINADPH U000 OO0
aoigoo

(4) < 680 nm JIUOMIOCOOIIOIOOODIDOOCED
[DoIoODDOUDOOrOroIIDImiOooa
(Oororoorio

4 00D O0IN0OION0OI0OAIoItonoot oo
J00A =12 000 000 B'=15.5 [0
J0d'c=1100 000D =13000

(i) 000 DOndoorOoOrOmmonotin mooto
I i |l

(i) 0I000A" DOTOID0I OO0 DmmoofoI oo go
12 (000 0O0TIooo O

(i) LI00'B' 0OIOIO0IO0OTOMOI00I000OI 10-12
ool 0OoTioooT O

@(iv) J00ID D000 im0 toiO oo iomo
13 (0000000 O

OOoomnOIooC m O nooroOo oo
OooOm

(1) U000 A
(3) 00O D

(2) U0IA O0Ic
(4) II0IB D

Yowr Target i to cecane Good Rank in Pre-MWedical 2015

|E/H




MAJOR TEST : AlIMS

@) ALLEN|" | pRe MEDICAL : ENTHUSIAST, LEADER & ACHIEVER COURSE |(19-05-2013

Acetyl CoA

60. oxaloacetic acid ‘Al

|DV(_f })NADH + H+
Malic acid a-Ketoglutaric acid
>\'C' </L>NADH +H
'BY

(i) Label A, B, C and D
(i1) How many CO, evolve between A and Malic
acid ?
Choose the correct option from the following
regarding answers of above questions :-
() 1) A=PGA, B =CO,, C=PGAL, D = ATP
(i) 3CO,
(2) 1) A = Citric acid, B = CO,, C = Succinic
acid, D = FADH, (i1) 2CO,
(3) 1) A = Citric acid, B = FADH,, C = Succinic
acid, D = NADH + H* (i1) 2CO,
(4) (i) A = pyruvic acid, B = FADH,,
C = Succinyl CoA, D = GTP. (ii) 4CO,
61. Match the following
A. Citric acid 1. Haemolytic
streptococcus
B. Streptokinase ii. Aspergillus niger
C. Cyclosporin-A iii. Monascus purpureus

D. Statins iv. Trichoderma polysporum
A B C D

(1) i ii iii iv

(2) ii i iii iv

3) il i iv iii

@) iv ii iii i

62. Read the following four statements (a-d) :-
(a) Inbreeding increases homozygosity
(b) Artificial insemination helps to overcome all
problems of normal matings
(c) Bee keeping is easy and do not require some
specialised knowledge.
(d) Hilsa, common carp, mackerl are edible fishes
How many of the above statements are correct?
(1) One (2) Two  (3) Three (4) Four
63.  Which solutes are the main contributors to the high
osmolarity of interstitial fluid of renal medulla ?
(1) Na*, CI, Urea (2) Na*, CI', H,CO,
(3)NH;, Na*, CI', Urea (4) Na*, Urea, H"

0000UICoA

60. DIDDDIDD[DDDD{DL\ A

D’ NADH +H'
dLLEIR T «-0I0I00Onno
- >\'c' ZSNADH + H'
@ A, B, C 00D ONOOO0IO1000
(i) A DODD0I0IOI0ONI000ICo, D00
i
Qo000 OO OO OO0 O OO0
om0 -
(1) () A = INOTL, B = CO,, C = OIONOIL,
D = ATP (i1) 3CO2
@) () A = [NOOI0ID, B = CO,, € = D00
000, D = FADH, (ii) 2C0,
(3) (i) A = [D0OTN0, B = FADH,, € = 00000
(I, D = NADH + H* (i1) ZCO2
4) (i) A = DOOI0OI0N0, B = FADH,,
C = 000000 CoA, D = GTP. (i) 4CO,
61. OUIOOOIOIO00

A. 000010 i JL0Emon

B. [IIIONCOO ii. OO0

C. Uooonmonoo- A -+ . Zupooonon

D. [ iv. JUCIOOInOnn
A B C D

)i ii iii iv

@i i iii iv

Gyii i iv iii

@ iv i iii i

62. (0000001000000 OO0 (a-d) ONOIDOO
(a) 0000000010000000 O1Doon o0l om
) 8 [
OI00000 00 0I00n o000 Do 0o om
0 o
0000 O 0000 oo oo oo
(d) (0000 0000 o0 0ano0onon ononoomonoa
1 o
(1) 00 @) [ 3) Ul 4 UL
63. 000OI0I000ONOIONMONOIOIONCCOICHO0monar
000000001 0] OimoIoDoltnol o000
(1) Na*, CI, Urea (2) Na*, CI", H,CO,
(3)NH;, Na*, CI', Urea (4) Na*, Urea, H"
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If a person is suffering from fever with heart beat
rate increases. Then the duration of cardiac cycle
will —
(1) Remain same (2) Increase
(3) Decrease (4) Irregular
Select the option in which the structure of brain
is not correctly matched with its function :-
: Controls pupiliary

and sound reflexes

(1) Corpora
quadrigemina
(2) Association areas : Responsible for
complex functions like
intersensory
association, memory
and communication
(3) Limbic system : Regulates sexual
behaviour, emotions

and motivation

(4) Medulla Controls respiration,
body temperature and
body balance

Given below is the diagram representing the

mechanism of hormone action :-

(Generation of second messenger)
(Cyclic AMP or Ca™)

Biochemical responses

{

Physiological responses

Select the option in which the group of hormones
belong to the above mechanism :

(a) Insulin and glucagon

(b) Pituitary hormone

(c) Cortisol, estradiol and testosterone
(d) Iodothyronines

(e) Epinephrine

Options :-

(2)cand d
(4) a,b,d and e

(1) a only
(3)a,band e
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Read the above following statements (A-D):-
(A) Epididymis provides more ATP to sperms
(B) Inner cell mass of blastocyst contains certain
cells called stem cells which have the potency
to give rise to all tissue and organs
(C) Though contraceptives are not a regular
requirement for reproductive health, one is
forced to use them to avoid pregnancy or to
delay or space pregnancy
(D) The hymen is often torn during the first coitus
however, it can also be broken by a sudden
fall or jolt.
How many statements are correct in following?
(1) Four (2) Three
(3) Two (4) One
Which one of the following is/are not used for
recombinant DNA technology :-
(1) DNA ligase
(2) Bacterial alkaline phosphate
(3) Cloning vector
(4) Restriction endonuclease-II
Mendel published his work in 1865 but it remain
unrecognised till 1900. Which of the following is
not the reason of such avoidance:

(1) communication was not easy

(2) concept of factors was not of universal
acceptance

(3) He just provided only physical proof of factor
but not provide any molecular evidance

(4) using mathematical logic

What would be the blood groups of children if

both parents have AB blood group :-

(1) B or AB 2) 0

(3) A, ABorB (4) A or AB

When Lac operon is switched on by the presence

of a biochemical or inducer then the product of

which gene digests that inducer chemical :-

(1) Lac A (2) Lac Y

(3) Lac Z (4) i-gene

Activated sludge method is one of the approach

of :-

(1) Primary sewage treatment

(2) Secondary sewage treatment
(3) Tertiary sewage treatment

(4) Quaternary sewage treatment
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Which of the following is incorrect with respect
to drug, its source and action :-

Actions/
Drug Source Functions
OH Latex of Effective
N Papaver sedative
M somniferum | and pain
I _OH killer
(2) Charas and Ganja | Resin and Hallucinogenic
inflorescence
of Cannabis

sativa

(3)[Cocaine Erythroxylum| Interferes with
transport of

Dopamine

(4) Nicotine Stimulates
adrenal
gland to
release

adrenaline

Tobacco

Mark the incorrect statement/statements :-

(a) Heroin is diethylmorphine

(b) a-interferon is biological response modifiers
(c) AIDS was first reported in 1918.

(d) Vandalism and violence are immediate adverse
effects of drugs and alcohol abuse

(e) Antitoxin is a preparation containing antigens
to the toxin.

(1)a, e
B)c, e

Cocain is obtained from cocaplant, Erythroxylum

2)a,c,e
(4) All are correct

coca native to :

(1) South Africa

(2) South America

(3) Indonesia

(4) Israel

Find the correct statement :-

(a) Organism in water are free from all water
releated problem

(b) The shallow water zone around the edge of
lake is called limnetic zone

(c) Conifers are well adapted for temperate region
(d) Limnetic zone of lake has maximum diversity
(I)a, c

(3) b, d,

(2) only ¢
(4)a, b, c
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77. Match the column :- 77.  O00000O0O000:-
A B A B
(a) | Phytophagous | (i) | Astage of suspended (a)| 000000 () | [00I00I0MOTOIOn o0
development 0000
(b)| Diapause | (if) | To avoid summer by | 0o (i | DODONO0IONOInOn
related problem i
(c) | Homeostasis (iii)| Feeding on plant sap iiog
(d) | Aestivation (iv)| Maintenance of (c)| 0000700 @in)| 00001000 070]
constant internal (d)| 00NIOOO  |avy| DODOI00I000T O
environment (000 Domnoomoo
a b c d a b c d
1 iv il iii i 1) iv ii iii i
(2) iii i iv il (2) iii i iv ii
3 i iii il iv 3 i iii il iv
4) ii il iv i 4) iii ii iv i
78.  Choose the incorrect option :- 78.  IOOIOODIOZO00:-
(1) Competitive exclusion principle - superior (1) Ul000IIOoooonniobon- tobom ioooo
competitor eliminate the inferior one 0o0mIornoonooon
(2) Mutualism - Plant - Pollinator interaction (2) 000000 - 000 - DonoOroeo
(3) Camouflage - Monarch butterfly having (3) UO0O0I- DDioIodmmimroomoononon
special chemical in its body in
(4) Thorn - Most common morphological means “4) D[D QI00IOIMoomonoOitiiomdoomoo:
of defence in plant ) D--DD_ -
79. How many statement are true :- 79.  [IIOIOIOOOOONOOOIOI000::
(a) Female mosquito is considered as true (a) UIOIO0IOONOTOIDIDIOIONOD0OmD O
paransite (b) U0IIOOI0OIDOIOOdIoononoOomoma
(b) Galapagos island is inhabitted by abingdon oo oonoiOroon gonoonoo
tortoise and those were eliminated by goat's (o) DONNIOI0]MO OO0 D000
©) Calotr9pis prodlices cardiac glycoside hence OI0IOD D00l 000N 00
are poisonous plant I
(d) Clown fish are benifited when lived with sea d) DDH;DDD_DDHDDHD[DDDDDDHDDEED'DJDD"DD'DJD]D
anemone Oirotomoa
(1) Two  (2) Three (3) Four  (4) One (H I (2) 0O (3) 00 4) 00
80. How many statement are true :- 80. [IIIIOIONODOIODONLIODOL::

(E/H/J

(a) Deep sea hydrothermal vent average
temperature exceeds 100°C

(b) Deep sea hydrothermal vent the salinity of
water is 30 - 35 percent

(c) Hypersaline lagoon salinity is < 100
percent

(d) >500 min sea, enviroment is perpetually dark

(1) One incorrect & Three are correct

(2) Two correct; Two incorrect

(3) Three incorrect; one correct

(4) Four correct; Zero incorrect

(a) DO0IDOOINOIOOOINOOIOINIOT DI Doo
100°C UI0IIOIIOTOO

(b) DOIDOOOTDITODIODIdmIObOOr 0o
30 - 35 L0000monod

(c) HIODOOIDOIOMmUIIOOMOT 00 LI0OUOHOMW]
Oomnon

(d) > 500 m OOOIOIDIOCOOI0OO00D 0ol

(1) DOIOO0I0mIbolborod

(2) 0D00ToT00nIod

(3) Diol0uuIofoorourog

(4) OD0ToIOIbDonO
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A lift starts moving upwards from rest. Its
acceleration is plotted against time in the
following graph. When it comes to rest its
height above its starting point is:-

a(m/s)’
4 H
PR 2
0 4 t(s)
4
(1) 20 m (2) 64 m
(3)32m (4) 128m

A particle of mass 2 kg moves in the xy plane
under the action of a constant force F where
F=i- 3 . Initially the velocity of the particle is

2i . The velocity of the particle at time t is :-

1 s 1A 2o
(1) E(t+4)1—§tj () t(i-j)

1 ~ =~ 1~ 1 A
(3) Sui-j) @) Sti+—(t+4)]
If energy E, velocity (V) and time (T) are
choosen as the fundamental quantities, then the
dimensions of surface tension will be :-
(1) EV2T-! (2) EVIT=
(3) EV2T= @) E2ViIT
A block P of mass m is placed over a plank of
mass M. Plank Q is placed over a smooth
horizontal surface as shown in figure. Block P
is given a velocity v to the right. If p is the
coefficient of friction between P and Q, the
acceleration of Q relative to P is :-

(1) pg
umg
(2) M P —»V
Q
3) (1—2) T
3 we(l -y

m
4 ng (1 +ﬁ)

81.

82.

83.

84.

0OMoooOoOoiIod OO moionor oo
oD oo O ooodo:

8 A O M A A
Ono oo omiomomm.-
a(m/s)’
4
I 2

0 4 t(s)

4
()20 m (2) 64 m
(3) 32 m (4) 128m

2 kg U00OOIOT OO0 DOT OO0 000 ooot oo
F=i-j 0000000 x - y 000000000 0000 0m

OO0 O 0i00man 000 23 0me 00071 00 00D O
ENIRNIER

1 s 1A 2o
(1) E(H4)1_EU () t(i-j)

1 ~ =~ 1~ 1 A
(3) Si-j) @) Sti+—(t+4)]
0i0I00E), 00k v) D000k T Ol Omroion
aiooioai oo, ornoonolooot ol oo
01000:-
(1) EV2T-! (2) EV-! T2
(3) EV2T= (4) B2 V- T
M 000000000 0ONQ OIOINm DIDOINION
0OIfdiole DOMIDONDONTOOID OI0IIOIOIQ
QiooninmoiooiiniDooiii oo O
0I0lOI0l 000y l00oiuomotiole DOMIQ O
a00ioinIomoon Ul Imile OIOIDONIQ OIIIDOON
-

(1) ng
pumg
) M A
Q

m f i T
1_ IO T !
) Hg( M)

m
4 ng (1 +ﬁ)

CD\DD\DD 0000 O doiotaooon I:IDD\D)
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In all the given cases blocks are in contact and
the forces are applied as shown. All the surfaces
are smooth. Then in which of the following
cases, normal reaction (contact force) between
the two blocks is zero :-

F F
Q) (ii) __'I:F m

—> . 2F 3m —»F
(ii1) FA’I; Sm 2k @iv) _’IF m

)
2

v)
(D) @), (v) (2) (1), (i) 3) (i) (4) (V)

Two persons, pull each other through a

massless rope in 'tug of war' game. Who will
win :-

0 Q

4 IS

(1) One whose weight is more

(2) One who pulls the rope with a greater force

(3) One who applies more friction force on ground

(4) One who applies more normal force
(compressive force) on ground

An object of mass 5 kg falls from rest through

a vertical distance of 20 m and reaches ground

with a velocity of 10 m/s. The work done by

air resistance is (g = 9.8 m/sz)

(1) +730J (2) =7301J

(3) 4980 J (4) -9301J

A block of mass 2 kg is free to move along

x-axis. It is at rest and from t = 0. Onwards it

is subjected to a time dependent force F(t) in

x-direction. The force F(t) varies with t as

shown in the figure. The kinetic energy of the

block after 4.5 second is :-

FE(O)

4N
\ 4.5s

0 3s\

(2) 7.50)
(4) 14.06J

(1) 4.50)
(3)5.06J

8s.

86.

87.

88.

(000 00 0010 0o [oomodm 0o o000 0oioon oomd

(0 OTI000 D00 Doomn 000 Doooon oo ool Jo

00 D000 I000T 0w 0000 do oo i0ooo 0o om

[(0I0T 00 000 0ol ioidnT 0ooodr ooy
0 O0t-

[
F F
Q) (ii) __'I:F m | 3m

—> . 2F 3m —»F
(ii1) FA’l: 3m 2k @iv) _’lF m

v)
(1) (), Gv) (2) (D), (1) 3) (i)  (4) (v)
000 DI0O0 Oooron o7 0o foooo bo-0ooe an
000 D000 DIod0 foom o0 Onoor om 0oor oo 0
00oom --

0 Q

4 IS

(1) DOIooOnoomona

(2) L0I0DIIOTDODmomoninIooNnd

(3) LOlimuoiimUrroood

(4) DINMIDDDIOEUOMUDDOGUrooony

ooornoa

5 kg U0000T OO 000 0000 20 me OO0 OOOMOC OO
[DODD0OT Oiooon OrmnodIool 10 mes 000
[0 00007 OTm00 0ooo 0o i0o0 0o too oo

(2 =98 m/s)

(1) +730 J (2) —730 J

(3) +980 J (4) —930 J

2 kg UI0OOIOOIIHIO0x-OU0I Ol OOoDD 0o tiora
00000000 MO 0 OO0 O DI = o

R S N i) )
gootiigunomnimooleey 0O00e OIOI
[OU0Oot00r . s 0O00Id00moOoorgdo
UOnoae .-

FF(O)

4N
\ 4.5s

0 3s\

(2) 7.50J
(4) 14.06 J

(1) 4.50)
(3)5.06J
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Properly arrange the effects with their reasons

Effects Reasons
(1) |[Rainbow formation (a) |Reflection
(i1)|[Red colour of danger (b) [Scattering
signals
(i) | Different colours of thin (c) |[Chromatic
oil film and soap bubbles abberrations
(v) | Coloured images (d) |TIR and
formed by lenses refraction
(v) Different colours of clouds (e) |Interference

(1) 1 (d), ii (b), iii (e), iv (c), v(a)

(2) 1 (b), ii (a), iii (e), iv (a), v(c)

3) 1 (d), ii (b), iii (e), iv (c), v(b)

@) 1 (d), ii (b), iii (¢), iv(a), v(e)

The Fraunhoffer diffraction pattern of a single
slit is formed in the focal plane of a lens of focal
length 1m. The width of the slit is 0.3mm. If
the third minimum is formed at a distance of
Smm from the central maximum then the
wavelength of light will be :-

(1) 5000A (2) 2500A

(3) 7500A (4) 8500A

A solid ball of mass m and radius r rolls without
slipping along the track shown in the figure. The
radius of the circular part of the track is R. The
ball starts rolling down the track from rest from
a height of 8R from the ground level. When the
ball reaches the point P then its velocity will be:-

m
A
0
R p
(I) yoR (2) /59R
(3) J109R 4) J39R

A particle is moving in a circular orbit with

constant speed. Select wrong alternate :-

(1) Its momentum is conserved

(2) Its angular momentum about the centre of
circle is conserved

(3) It is moving with variable velocity

(4) It is moving with variable acceleration

89.

90.

91.

92.

QoI droodoomomoioomoan

[T LIy
(i) (CODOIDIoOm ()| U0IDO0O
G| Q0 orooor ol (b UL

Qigooo

Gi{0000000I000000T 000 | (o|00Ii0Domo

100y0I0Do00nOlowndioo
Gv)| 00 DIioloonnao

1 001000

() [000T O100aa0od

(dy TIR DI 0JUOOD

(e) 10000

(1) 1 (d), 11 (b), iii (e),
(2) 1 (b), 1i (a), iii (e),
3) 1 (d), 11 (b), iii (e),
4) 1 (d), 11 (b), iii (c),

iv (c), v(a)
iv (a), v(c)
iv (c), v(b)

iv(a), v(e)

O T A | R
IOIoononOonOmonroogIoiConooe ¢ oo
20} e 0 A
UI0000000s 0O Oiooomoni O Qmoiodm
giom:-

(1) 5000A (2) 2500A

(3) 7500A (4) 8500A

m 0000000 0000 ¢ 00007 O 000 0ido oo iooe o
Um0 00D Q0 0oio oo Iooo UoDo O oo
U0 007000 0700 oo j0for R 0m ooo tUoooo og
U0 8R  IIO0 0 1000 0o 0o Uoo o oo oo

0 000 0d0 10100 e 007 00000 0T 0ooT oo
00w oo

m
A
0
R P
() Jor ) /5¢R
(3) J10gR 4) J30R

OOIOIIoooO Ot oo O oo

[DO0orUIoodr oo

(1) D000 0000 0Too o

(2) U000 O D T 07000 0oo Oimmor oog 0mom
0

(3) DO0NDO0onCo OO0 0 oo Do O

(4) DO00CDO007OIICooT LoD 0ot do

@H\D\D (I 0000 ey Fining 00 OUIO0 0000 DOOM I:IHDDDD)

W?WwwWWEmme-WZOIE
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A mixture of 2 moles of helium gas (atomic
mass = 4 amu) and 1 mole of argon gas
(atomic mass = 40 amu) is kept at 300 K in a
container. The ratio of the rms speeds

Vo (He) _
Vs (Ar) )
(1) 032 (2)045 (3)2.24 (4)3.16
The reversible expansion of an ideal gas under
adiabatic and isothermal conditions is shown
in the figure. Which of the following
statement(s) is (are) not correct ?

4 (PLV,T)

isothermal

adiabatic
(P,,V,,Ty)
(PB’VZ’TB)
Y >

()T, =T,

Q) T,>T,

(3) Wisothermal > Wadiabatic

(4) AUisothermal > AUadiabatic

C, and Cp denote the molar specific heat

capacities of a gas at constant volume and

constant pressure, respectively. Then

(A) Cp - C, is larger for a diatomic ideal gas
than for a monoatomic ideal gas

B) Cp + C, is larger for a diatomic ideal gas
than for a monoatomic ideal gas

©) Cp/CV is larger for a diatomic ideal gas than
for a monatomic ideal gas

(D) Cp . C, is larger for a diatomic ideal gas than
for a monoatomic ideal gas

Which statements are correct :-

MHA&C 2)A,B&D

3)B &D 4)B,C&D

An ice box made of styrofoam (thermal

conductivity = 0.01 Jm~ s! K!) is used to

keep liquids cool. It has a total wall area

including lid of 0.8 m? and wall thickness of

2.0 cm. The box is filled with ice. If the outside

temperature is 30° then the rate of flow of heat

into the box is :- (in Js™)

(1) 16 2) 14 3) 12 4) 10

93.

94.

9s.

96.

000 0000 07 0o oo 0rcool O odooom
0000 = 4 amuw) O OO0 007 00000 O
0000 000 = 40 amuw)! OI OO0 300
K{ 00000 007 0m 0oon 0o00ioooon 0o an

vme(He)
munil ey giiln

(1) 0.32 (2)045 (3)2.24 (4) 3.16
[00000000MC0IDI0OI Do oD On1bon 0omo
(adiabatic) UINO0UNN (isothermal) OOOOIOI
(I00000M0OMN reversible expansion) (OO0
] O

4 PLV,T)

isothermal

adiabatic
(P,,V,,Ty)
(P39V29T3)
v >

() T, =T,

Q) T,>T,

(3) Wisothermal > Wadiabatic

(4) AUisothermal > AUadiabatic

C, Uil c, 000 [0o0l doo00 0o t0oo7 o7 o
00 000 (000 i000Too Coomn frmooidr 0w oo too
(rm:

(A) C, — ¢, 000000000l 000 o Orooono
T A M
(B) C, + C, 00100000 D00 O O tooro
A I AR
(C) cyC, 00OI0I0NonI Onmiom andoora
A I AR
(D) C, . C, D0liODONIO0inimOroooo
T A M

Uimioroooniey

MHAlC ) A, BIOD
3)BID 4)B,COD
(000 oo 0or ooo oo 07 0ol boiow
O00¢ = 0.01 Jm* st KM UOI 000D OO
00000 00 0O0mi 1001 0o 0m foOT todon 0ioo
gol 0oLl OF ool o.8 m2 LD 0lomn tor
Qiol 2.0 em 0 0000 OO 000 O0 000 1007
OO0 Om 000 0o Diofidn 30 0mor oo o
0000 OO DO O Co0 O0:- @n Js™

(1) 16 2) 14 3) 12 ) 10
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A tuning fork of frequency 240 Hz vibrates at
one end of the tube shown in the figure. If sound
is not heard at other end of the tube, the velocity

of the waves will be-
(2) 672 m/s V :

(3) 168 m/s
Two wires are fixed in a sonometer. Their

im
(4) 240 m/s

tensions are in the ratio 8:1. The lengths are in
the ratio 36:35. the diameters are in the ratio
4:1. Densities of the materials are in the ratio
1:2. If the higher frequency in the setting is 360
Hz, the beat frequency (per second) when the
two wires sounded together is

(1) 8 2)5 3) 10 4) 6
The frequency of a simple pendulum is n
oscillations per minute while that of another is
(n + 1) oscillations per minute. The ratio of length
of first pendulum to the length of second is-

i @ (3

o%Y el

n
A particle of mass m is in a one dimensional
potential field and its potential energy is given
by the following equation U(x) = U (1 — cos ax)
where U_ and o are constants. The period of the
particle for small oscillations near the
equilibrium will be-

2
1) 2n | = (2) 2mma?U,
ma-U,
2
U
(3) 2n a:‘J (4) 2m |0

0

The electric and the magnetic field, associated
with an e.m. wave propagating along the +z
axis, can be represented by :-

(1) [E=E,j, B=B,k] (2) [E=E,i, B=B,]]

(3) [E=E,k,B=B,j] (4) [E=E,]}, B=B,i]

97.

98.

99.

100.

101.

000240 Hz DO O 007 007000 1000000 oo
40 000 1000 00 Dodiol ool Om Dor 0on O
0000 1000 00t D00 On7 Oo7o 0o 01 o oo O oo

0o

(1) 274 m/s _/_\_
(2) 672 m/s ; Q

(3) 168 m/s (L‘L#J T

(4) 240 m/s

(00 007 D000 0o D07 0do frng oo joam Om aodo
8:1 [INI0DON 00Ol 4T 000 36:35 OII000O
(0107 OO D00 4.1 000000 OO0T Toor an
Quinr 1.2 0 0ion ooon oo 0o 0o ao
Q00 360 00O 000 00 0007 0000 00 10007 [0doo
Q0000 0oool U0oooo 000 tir 0ooo bor iro
(1) 8 2)5 (3) 10 4) 6
0000000 D007 0T 0 o 01007 0000 [0ooo 0
OO0 0000 O 00 (- + 1) 0000 10007 Om o0

OO0 4ol O0ooio 0m7 0o O doooo O 0uoo
0]

() =" @ [n+)

n+1
@5

® (22

n
0I000Im OD0OIO0NODONOOIONICOOl DO0O0 000
0 Y W
0 Ux) = U (1 - cos ax) UII U, Ul o
(000100 OmOIoooom ool Dooloioom anoo
O 07 0000000 oo

2
(1) 2n /n{"—“ 2) 2nfmaU,
aU,
2
3) 2n :TJ @) 2n, |20
o

0

+z-UIINI0IIIDDDIDIITIIboIOo0bnoom
O0UI0DOmanOmidmoinonrouomm
L

(1) [E=E,j, B=B,k] (2) [E=E,i, B=B,]|

(3) [E=E,k, B=B,j] (4) [E=E, ]} B=B,il
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A system consisting of two charges 7uC and
—2uC placed at (-9 cm, 0, 0) and (9 cm, 0, 0)
respectively. This system of charges is placed
in an external electric field E = 9r2 kVm™'. The
electrostatic energy of the configuration will be :-
(1) -0.717 (2)-0.2J
3)0517 (4)49.3 )
Magnetic field at the centre of a circular loop
of area A is B. The magnetic moment of the
loop will be : -

BA’
m

BA®? 2BA*"?
R

BA3/2

@ o O

The incorrect statement regarding the magnetic

field lines is : -

(1) Magnetic field intensity is a measure of
magnetic field lines passing through unit
area held normal to it

(2) Magnetic field lines form a closed curve

(3) Inside a magnet, its magnetic field lines
move from north pole of magnet to its south
pole

(4) Magnetic field lines never cut each other

In the given circuit, with steady state, the

potential difference across the capacitor must

be :- \Y% R

(H V | o

) V2 NI
(3) V/3 v R

4) 2V/3 —WW—

Two concentric coplaner circular loop have
radius r, and r, respectively (r, > r,). If a current
of I, flows through the smaller loop then the flux
linked with bigger loop is ¢,. If a current of I,
flow through the bigger loop then the flux linked

¢
with smaller loop is ¢, then ¢_1
2

is equal to :-

L L 0 b
my @O &L @
In an LCR series circuit the value of half power
frequencies are 25 Hz and 100 Hz respectively.

Then Quality factor of the circuit will be :-

B R N BT
my @3 &7 @3

102.

103.

104.

105.

106.

107.

100N 00 7uC O0T—2uC 0000 OI000 OO0
100009 cm, 0) D071 (9em, 0) OO0 DM 00T
00 I00000 00 00000 OO0 D0 E = 9¢2 ki
[0 D00 00 D 00030000 0300 200000 O Q00 O
iliniln

(1) -0.71 2)-021]

3)0517 (4)49.3]

P ] A
OOIOOIONO00CDICOON : -

BAZ BAS/Z BA3/2 2BA3/2
(1) HTe 2) HTe 3) o ) o

00000700 Oroiitorondroom tr oot oo

Onod: -

Q@ 800 o A N
A W
0

(2) DI0OID IO onomoYrom

(3) U007 40 0ido foon 0iooioo oo oo
00000 4 0o f00 0o Dioome Mmoo 4oy 4o oo
gooi 0m

(4) DI0DIDNDI0I0O0DOnOIOooono

[oI000DoOIDuOnIon oo o oomien Qoo

O00O000Io0. - v R
(v o

(2) V/2 VI—H—
3) V/3 | R

( ) 2V

(4) 2V/3

NI0000I0MO 00000000 D0 000000
¢, OO0, (r, > r,) DONO00I000 000, 00000 00000
DIOIDNOImIIN0 10 0000e, 0000100000000
000000 00 000, 00000 D0 00mo00monio0 00

¢, UO00I 00000 DU Ommat . giromoiood

¢,
0100e:-

L, I, I %)
(1) E (2) f (3) g 4) ?
5@ 2 0

25 Hz (11100 Hz 0D O0O0T O I0000O0 0000
[000T:-

3 5
3, @3

1 2
my @3 3

CUse stop, look and go method in reading the questiorD

|
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If earth is supposed to be a sphere of radius R, | 108. [IIOIDIR [HI0TOI0OIN O OMIIIO000000
if g,, is value of acceleration due to gravity at g 0130° O0IOOIDOI0IOIODINI00DNONODg,,
Latitude of 30° and g at the equator. The value (g — g,,) O0OMI00T:-
of (g — g30) is | ; |
1) ~o'R (2) ~o’R R (4 -o'R
() 7oR @ S0R @GR @) yoR (W@F Byet @eR @50
109. 000 00000 0000 On 0o 000 v, 00do 0o onool
A satellite is revolving round the earth with 007 001 O 000 0000 O01007 (00 0000 0700 0
orbital speed V. If it stops suddenly, the speed (00 0000 000 0001 007 1007 0007 00 0000010 00
with which it will strike the surface of earth DHV = 000 O 0000 00 1000 000 0O 00100
would be (v, = escape velocity of a particle on 00y e:_ - _
earth's surface):—
VZ
2 1 — 2
() = @ v ', @
0
3) v @) [ 2 (3) vI-v; 4 \vi-2v¢
Vi-v Vi —2v
. ° 0 _ © ° 110. IIIODOOIOOIDOIOOIONND 5ecC OWoommeo
A 5°C rise in temp. is observed in a conductor OO o0 OO0 D0 O 000
by passing a current. When the current is MO0
doubled the rise in temperature will be (1) 10°C (2) 12°C
approximately (3) 16°C (4) 20°C
f;) 1_0f°C 2) lilcg Q<3>_16"C | <;‘> 20°C 1 111, 18 @ DI00ION O 00000 000 O QU000 000 O
uniform wire o resistance 18 bent 1nto
the form of a circle, A battery of emf 2V and 0000 OO0 0m 2v - 0000 000 000 0o 0o 000 1
internal resistance 1 Q is connected at two Q 00000 O00iD D 0o 100 O 000 Do O
points such that these make an angle of 120° (000 07100 000 000 00 0o 000 120° 00 O
at the centre of the circle. The current drawn 00000 OO0 0 00000 D0 OO -
from the battery is :- o
2 2 2 1 DA @A () 2A @) =A
) GA @A () A @A DA @A B34 @75
A prism is filled with a liquid of refractive | 112. OOINOONL, /> UOOO0OODOIITIO0OI DI
index of /7 . If angle of prism is 60° the angle [D00I0IONeoe UNIODOCIIDOOOIOMIHION: -
of minimum deviation is :- (1) 75° (2) 60°
(1)75°  (2)60°  (3)45°  (4) 30° (3) 45° (4) 30°
A disc is placed on the surface of a pond which | 113. 5/3 DIUODOOIOOIOINDIDON0IIOIHT
has refractive index 5/3. A source of light is OMoOmIOIoONDNO00Idi4m ONO00OMO00000O
placed 4m below the surface. The minimum OO0 OO IO 0 000000 amao0!
radius of the disc needed so that light does not 00
come out :-
()3m  (2)4m  (3)5m  (4) 6m H3m  2)4m  G)Sm  (4) 6m
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The minimum light intensity that can be
perceived by the eye is about 10" W/m2. The
number of photons of wavelength 5.6 x 10~
m that must enter the pupil, of area 10° m? per
sec for vision is approximately-

(use h = 6.6 x 107 joule-sec)

(1) 3 x 102 photons (2) 3 x 103 photons
3) 3 x 10" photons 4) 3 x 10° photons
The increase in the energy of an electron for
changing its de-Broglie wavelength from 1 A
to 0.5 A will be-

(1) 1.5 keV (2) 0.45 keV

(3) 0.25 keV (4) 100 eV

If the velocity of light were (2/3)rd of the
present value, then the energy released in
atomic explosion will be reduced by-

(D) [%j times

3) (gj times

In the following circuit the current flowing the

2 2
()9 1mes

@ (¥2/3) times

1kQ resistor is :-

500 0
MW
10 V_T_ - 1kO
(1) 0 mA (2) 5 mA
(3) 10 mA (4) 15 mA

Assuming the diodes to be silicon with forward
resistance zero, the current-1 is the following
circuit is :-

(2) 9.65 mA

(3) 10 mA (4) 10.36 mA
The pressure applied from all directions on a
cube is P. How much its temperature should
be raised to maintain the original volume. The
volume elasticity of the cube is  and the
coefficient of volume expansion is o :-

P Pa Pp of

ey ap 2) B @ O

114.

115.

116.

117.

118.

119.

O10m0100100 0100100100 O 10000000000 0000
107 00007 0mro™° OF DIDIO0IOI0I0n 000D
NI000000000N00000 5.6 x 107 0000000MIO
i m wm a{ man[

(h=6.6x 10" 0000000)

(1) 3 x 102 photons (2) 3 x 103 photons

3) 3 x 10" photons 4) 3 x 10° photons
I000o0DDIONOo0NOnoinmI1 A Olo.sA OO0

0 0 AR

(1) 1.5 keV (2) 0.45 keV

(3) 0.25 keV (4) 100 eV
UiioOmIOnooibiomood2ys Tonotitkon
[O0Omomotoon

(1) [%j Qomooooe (2) % Ooooo e

3) @ mImom @ (v2/3) oo

[10000I000001000I0D 1k Q00D OI0On0o0 oo
0L+

500 0
AW
e - 1kO
(1) 0 mA 2) 5 mA
(3) 10 mA (4) 15 mA

10 0 M
RN g

TE—zov
(1) 0 mA (2) 9.65 mA
(3) 10 mA (4) 10.36 mA

000 000 00 O O OmmonD 000 ed Ommon O ooo O
100000 0000 O 0om 01boo O Oopen ooooo oo
0000 O (0000 000Mman g 0011 00000 bOMm 001a
o -

P Pa Pp of
(D OL_B (2) F (3) o (3) 5y
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A cylindrical tank has a hole of lem? in its
bottom. If the water is allowed to flow into the
tank from a tube above it at the rate of
70 cm?/sec then the maximum height upto
which water can rise in the tank is :-

(1) 2.5 cm (2) 5cm

(3) 10 cm (4) 0.25 cm

120.

IOUI 000000 0oz 00 0dr 0 1em? 0DOO0 O
0000000 O 0o do lon Dor QT tooor dr- 7o
cm?/sec Ul U0 O D000 00000 00 OO0 O 000 4o
10000 DOMD OO 000 0o 00 0070 0o 0o ooz
OO0 .-

(1) 2.5 cm (2) 5cm

(3) 10 cm 4) 0.25 cm

DIRECTIONS FOR Q. NO. 121 TO 180

00000000121 00180 001000000

These questions consist of two statements each,
printed as Assertion and Reason. While
answering these Questions you are required to

O g
ginoootoitoODOntiomoCoCoOMminIuOotonan

choose any one of the following four responses. 0o 0omibdoon O oo
A.  If both Assertion & Reason are True & the | A, [OI000000000O000000000C0O0OMIONI O0000 OO0
ieaso.n is a correct explanation of the Q000N IDINON0DOm
ssertion.
B. If both Assertion & Reason are True but | B.  OI0I0000O0O0NMIOICIDOIONO00OM000MO00
Reasm.l. is not a correct explanation of the 00 000 0000IO D00 OO0 O
Assertion.
C. If Assertion is True but the Reason is False | C. 000000100 0000 0MONO00 Q0000 0DIO0DM
D. If both Assertion & Reason are false. D. 000000 Cido ojoie Ooooo o
121. Assertion :- When methyl alcohol is added to | 121. /070000 0I0I0INOMNIOIDIODOIOOIOT
water, boiling point of water increases. OIOnoommoiooirim
Reason :- When a volatile solute is added to a Lprpomonoolonoononooo onooonono
volatile solvent elevation in boiling point is [DO0OHIoOOOIomDnoinoDDoooonomom
observed. i
(H A (2)B 3) C 4) D (DA (2) B 3)C 4) D
122. Assertion :- E°_ is an intensive property. 122. [J17 -- ¥, DOIO0O0OOO0 O
Reason :- AG®is an extensive property. L -- AGe DON000oO0ooonom
(H A (2)B 3) C 4) D (DA (2) B 3) C 4) D
123. Assertion :- SO, can be used as reductant as | 123. /[0S0, D0OO0ONIIO0O00IOIDOIOO
well as oxidant QoomoooOronooonim
Reason :- The oxidation number of S is +4 in dpadsso, Uis 000oDoro00T+4 OOt
SO, which lies between its minimum (-2) and (HI00Omooool 2y 0o ooool+ey Uiood
maximum (+6) values. (00no0 O
(H A (2) B 3) C 4) D (DA (2)B 3)C 4) D
124. Assertion :- A catalyst lowers the activation | 124. /- DI0I00OD00DONO00NDO0IO0ONIOMIDD

EE

energy whereas the heat of reaction remains the
same.

Reason :- The heat of reaction is equal to the
difference between activation energies for
forward and backward reactions.

(1) A (2) B 3)C (4) D

QIooronoorooomoirio

Lag - OIII0O0T 00 Do DoooD 0o ooood
{07000 O 0io0or Doir oo 0o On 0o
00 0m
1A 2)B

3 C (4) D
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Assertion :- The ratio of rate of diffusion of the
to that He of CH,, from a container having
equal masses of both the gases is 2 : 1.
Reason :- The rate of diffusion of a gas
increasess with temperature.

(1) A (2) B 3)C 4) D
Assertion :— Sb(iii) is not precipitated as sulphide
when in its alkaline solution H,S is passed.
Reason :— The concentration of S2- ion in
alkaline medium is inadiquate for precipitation.
(1) A (2) B 3)C 4) D
Assertion : On mixing equal volumes of 2M
HCI and 2M CH,COONa an acidic buffer
solution is formed.

Reason Resultant mixture contains
CH,COOH and CH,COONa which are parts of
acidic buffer.

(H A 2)B 3 C

Assertion :— pH of pure water is 7.

(4) D

Reason :— Pure water contains unequal

concentration of hydronium and hydroxyl ions.
(1) A 2B 3 C 4) D
Assertion :- NO~, & CN~ are ambident ligand.

Reason :- An ambident ligand have two donor
site but capable to donate only one electrone pair.

(1) A 2B 3 C 4) D
Assertion :- AgCl, dissolve in NH,OH solution
Reason :- AgCl is ionic compound.

(1) A (2B 3 C 4) D
Assertion :- Excess of NH; added to CuSO,

solution in acidic medium to form deep blue
complex compound.

Reason :- [Cu(NH,),]SO, is blue vitriole.

(H A 2)B 3)C 4 D
Assertion :- P,Og exist as a dimer P,O,,
Reason :- 2P_— 3P_ bond is absent in P,O,,
(H A 2)B

3 C 4)D

Assertion :- Bleaching action of SO, is
temporary and by reduction.

Reason :- The colour is regained due to
oxidation by air.
(H A 2) B

3)C (4) D

125.

126.

127.

128.

129.

130.

131.

132.

133.

L7 -~ He IICcH, 00000 OT0NOTI0O000
0 O A R WA
000D - 1 0

JA///1/ /L A A M R
0

(1) A (2B 3 C 4) D
LI -~ sw(iiy) DOIIII0000D000M, S 00000
gitiomrotinomolonoim doiulnoodm
L.~ II00n00mis2- Qioomioroooonnm
grioonooonom

1) A (2) B (3)C 4) D
L7 - 2M HC1 00/2m CH,COONa 01000
UOaooo oIt oo Ooo oo o
0

cfggy - 0000 ooor ol cH,cooH O
CH,COONa JUINHII OO0 Oimoooim
qnotim

(1) A (2) B 3 C
L7 - 10100000 pH 7 DIOT 0O

Ly -~ IO00oroooIoooommononuiond
Qoo onooonoorio

1) A (2) B (3)C 4) D
LI :- No-, DI enN- 000000000 Om

L. 00oonO o om O oon o
OO0oCoodooooitrbootooim

(1) A 2B 3 C 4) D
LI =~ AgCl, NH,OH (00000 IO OT O
L -- Agct 000000000 om

(1) A (2)B 3 C 4) D
LI :-1cuSO, [0000IOINK, O OTI0N0 0000

01000 00 100400 000 0000 (000 000 O 0000 000
0

[ -~ [Cu(NH,),1S0, 00000000000
WA @B (3C @D
017 - P,0, ONONI0000I0000P,0,, 0000
mifuiifin

[ - P,0,, 0 2P, — 3p_ 01100010000
A @B  (3C  #D
17 - so, ON000)0 0000000000000
M0

DA/ 0 A A O UM L
gilooromim

1A 2)B

(4) D

3 C (4) D
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Assertion :- Compound [Fe(H,0);NO] SO, is
paramagnetic in nature.

Reason :- In complex [Fe(H,0);NO] SO, five
unpaired electron present.

() A 2)B 3 C 4) D
Assertion :- Benzaldehyde gives two oxime
with NH, - OH .

Reason :- Two oxime are obtained due to
geometrical isomerism in oxime.

(H) A 2)B 3 C 4) D
Assertion - CH,—CHO can show tautomerism.
Reason :- CH,—~CHO can give iodoform test.
() A 2)B 3)C 4) D
Assertion :- Methanal and methanoic acid can
be differentiated by fehling solution.
Reason :- Methanoic acid does not reduce
fehling solutions.

(H) A 2)B 3)C 4) D
Assertion :- Reaction of methyl chloride to
methanol in DMF will be faster than in H,O.
Reason :- Reaction will be via SN2 mechanism.
(H) A 2)B 3)C 4) D
Assertion :- CH,—CH,-CH,-NH, gives
2° Alcohol with HNO,,.

Reason :- Product is obtained via more stable
2° carbocation.

() A 2)B 3)C 4) D
Assertion :- P-Cl -C.H,~CH,-OH is more
reactive than P-NC-C.H,—~CH,-OH towards
HBr.

Reason :- —CN decreases electron density in
benzene.

(H A 2) B 3 C 4) D
Assertion :- Bryophytes are called as

amphibians of the plant kingdom

Reason :- Bryophytes can live in soil but are
dependent on water for sexual reproduction.
(H A 2)B 3 C 4) D
Assertion :- Fungi consider as decomposer.
Reason :- Fungi causes rust and smut disease.
(H A 2)B 3 C 4) D
Assertion :- Teeth in osteichthyes are modified
placoid scales.

Reason :- Osteichthyes group of fish has very
powerful jaws with compare to chondrichthyes
(H A 2)B 3 C 4)D

134.

135.

136.

137.

138.

139.

140.

141.

142.

143.

LI - TINON Fe(H,0),NO] SO, D0OI0OIOIT
(m

Ly .- DOUIFe(H,0),NO] SO, L0 00000
electron UUJIOI0MI

(H A (2) B 3) C 4 D
L - DDD:DDDUDDUI.\.IHZ — OH oo
Onano0010Onom

DA/ 0

QIoo0iooom
(1) A 2) B (3)C (4) D
LI =~ CH,~cHOIOO0000T 007 0m

L - CH,-cHOIUI OO0 OO oo
(1) A 2) B 3)C (4) D
L7 - D0 oIonooOmooiorgmminrooog
oooonoooom

WA/ R M
Uo0nom

(1) A 2) B 3) C (4) D
4 - Tooroiroornriioire,o
UI0D0IOI pME.LIOO0OT Om

A/ RS S ]

(1) A 2) B 3)C (4) D
(707 :- CH,~CH,~CH,-NH,, HNO, 010102°
gugmonnoim

VA7 o A A A I
0m

(1) A 2) B 3)C (4) D
I :- P-Cl ~CJH,~CH,~OH! 01 [00I00
H-B:. UL 00 P-NC-CH,~CH,-OH [0l LI
0m

P47/ )\ (1
(DA (2) B 3 C 4) D
L7 .- D000 0I 0N oo Lo Cromonm 0oo
0m

WA/ A |
Uil 00ICoItoo potl 0m

(1) A ) B (3) C
L7 .- 000100 00000 oo om
L .- 000000000 000000 00000 0o om
(1) A ) B (3) C 4) D
WA/ 473 1 A
0m

Lid-- OO oiOmoioiOmoomoToooa:
QiOnimioomorrooonoo
(1) A ) B (3) C

“4 D

“4 D
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Assertion :- Marginal placentation is present in
liliaceae femily.

Reason :- In marginal placentation, ovary is
multilocular.

(1) A (2) B 3)C 4) D
Assertion :- Sutures present between the skull
bones which are immovable joints.

Reason :- There is no gap between the skull
bones and these bones are attached by
fibrocartilage.

(1) A (2)B 3)C 4) D
Assertion :- In the cell membrane non polar tail
of phospholipid is found toward the inner side.
Reason :- The lipid component of the membrane
mainly consists of phosphoglycerides.

(1 A (2) B 3)C 4) D
Assertion :- Chemical mutagens are more
harmful than radiation.

Reason :- Effect of radiation is localised while
chemical mutagen spread in complete body
through blood circulation.

(1) A (2)B (3)C “4) D
Assertion :- Evolution is not occuring at present
time.

Reason :- Evolution take a short time to occur.
(1) A (2)B 3)C 4) D
Assertion :- Sympatric speciation always occur
due to geographical isolation.

Reason :- The species are never geographically
isolated.

(1) A (2)B 3)C “4) D
Assertion :- Mass or bulk flow system of
transport is differ from diffusion.

Reason :- In mass flow different substances
move independently from each other depending
on their concentration gradients

(1) A (2)B 3)C 4) D
Assertion :- Iron is an important constituent of
proteins which are involved in the transfer of
electrons

Reason :- Iron activates the catalase enzyme
(1) A (2)B (3)C “4) D
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Assertion:- ‘Aspergillus niger’ [Fungus] and
‘Clostridium butylicum’ are of same category
in producing acidic products.
Reason :- Aspergillus niger produces citric acid
and clostridium butylicum produce butyric
acid.
() A 2)B 3 C 4) D
Assertion :- In the descending limb of loop of
Henle, the urine is hypertonic while in ascending
limb of loop of Henle the urine is hypotonic.
Reason :- Descending limb is impermeable to
Na®, while ascending limb is impermeable to
water.
(H A 2) B 3 C 4) D
Assertion:- The function of the cone is
photopic vision and colour vision.
Reason :- A thinned out portion of retina called
fovea which is the point of the greatest visual
acuity
(H) A 2) B 3 C 4) D
Assertion :- Administration of progestogen or
progestogen estrogen combinations could be
used to avoid possible pregnancy due to rape or
casual unprotected intercourse.
Reason :- Within 72 hours of coitus they have
been found to be very effective as emergency

contraceptives.
() A (2) B 3)C 4) D
Assertion :- The viruses (Baculoviruses) are

excellent candidates for insecticidal applications
Reason :- They are species specific, narrow
spectrum pathogens.

(H A 2B 3 C 4)D
Assertion :- Continuous culture system is better
than batch culture system.

Reason :- Continuous culture system maintain
the cells in their physiologically most active
state.

(H A 2B 3 C 4)D
Assertion :- Ascaris is a intestinal parasite.
Reason :- Wuchereria is an endoparasite.
(H A 2B 3 C 4) D
Assertion : Arctic desert is most delicated fragile
biome.

Reason : Biodiversity of tundra biome is very low.
(H A 2B 3 C 4)D
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Assertion :- C.0.D. value is always higher than
B.O.D. value.

Reason :- In B.O.D. only decomposition of bio
degradable materials takes place, but in C.O.D.
oxidation of total organic matter (biodegradable
+ non-biodegradable) takes place.

(H A 2) B 3 C 4) D
Assertion :- For the given position time graph of
aparticle, it can be said that it moves along a straight
line for t < 0 and on parabolic path for t > 0.

Reason :- Position time graph gives the
complete information of path of a particle.
(H A 2)B 3 C 4) D
Assertion :- Contact force arise also when
solids are in contact with fluids

Reason :- Buoyant force, viscous force and air
resistance are the examples of contact force
(H A 2)B 3 C 4) D
Assertion :- Work done in moving a body in
a closed loop is zero for every force in nature
Reason :- Work does not depend on nature of
force

(H A 2)B 3 C 4) D
Assertion :- Only rotating bodies can have
angular momentum.

Reason :- Because J=m(VxT).

(H A 2)B 3 C 4) D
Assertion :— A energy is created during
constructive interference and destroyed during
destructive interference.

Reason :— The positions of constructive
interference are source of energy while the
positions of destructive interference are sinks
of energy.
(H A 2) B

3)C (4) D
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Assertion :- A man would fell iron and wooden
balls equally hot at 37.4°C.

Reason :- At 37.4°C both iron and wood have
same thermal conductivity.

(1) A (2) B 3)C 4) D
Assertion :- During adiabatic expansion of an
ideal gas, temperature falls but entropy remains
constant.

Reason :- During adiabatic expansion, work is
done by the gas using a part of internal energy
and no heat exchange takes place the system
and the surrounding.

(1) A (2)B 3)C 4) D
Assertion : The basic of Laplace correction was
that, exchange of heat between the region of
compression and rarefaction in air is not
possible.

Reason : Air is a bad conductor of heat and
speed of sound in air is large.

(1) A (2) B 3)C 4) D
Assertion : In a S.H.M. kinetic and potential
energies become equal when the displacement

is 1/+/2 times the amplitude.

Reason : In SHM, kinetic energy is zero when
potential energy is maximum.

(H A 2) B 3 C 4) D
Assertion : The sensitivity of a moving coil
galvanometer is incereased by placing soft iron
as a core inside the coil.

Reason : Soft iron has a hight permeability.
(H A 2) B 3 C 4)D
Assertion : For a non uniformly charged thin
circular ring with net charge zero, the electric
potential at each point on axis of the ring is zero.
Reason : For a non uniformly charged thin
circular ring with net charge zero, the electric
field at each point on axis of the ring is zero.
(H A 2) B 3 C 4) D
Assertion : In L-C oscillations current in the
circuit is maximum at the instant charge in the
capacitor is zero.

Reason : At this instant whole of the energy is
stored as magnetic energy.

(1) A (2) B 3 C (4) D
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Assertion : 1f a loop is placed in a non uniform
magnetic field then induced emf is produced
in the loop.

Reason : In a non-uniform magnetic field
magnetic flux passing through the loop will
change. Therefore induced emf is produced.
(H A 2)B 3 C 4) D
Assertion :- If the ice cap of the pole melts, the
day length will shorten

Reason :- On melting ice will flow towards the
equator and decrease the moment of inertia of
the earth. This increase the frequency of rotation
of the earth

(H A 2)B 3 C 4) D
Assertion :- Potentiometer measures correct
value of emf of a cell.

Reason : Because no current flows through cell
at null point.

(H A 2)B

3»Cc @D

Assertion :- Universe is expanding.

Reason :- Spectra of galaxies is shifted towards
red.

(H A 2)B 3)C @D

Assertion :- In large sized nuclei there are more
number of neutron than the protons.
Reason :- Neutron provides only force of
attraction to overcome electrostatic repulsion
between the nucleons.

(H A 2) B 3 C 4) D
Assertion :- Photo electric emission is possible
at all frequencies.

Reason :- KE of emitted photoelectrons is

given by %sz =%(v—v0),

(H A 2)B 3 C 4) D
Assertion :- NAND or NOR gates are called
digital building blocks.

Reason :- The repeated use of NAND (or NOR)
gate can produce all basic or complicated gates.
(H A 2) B 3 C 4) D
Assertion :- The size of needle of a syringe
controls flow rate better than the thumb pressure
exerted by a doctor while administering an
injection.

Reason :- Flow rate is independent of pressure
exerted by the thumb of the doctor.

(H A 2) B 3 C 4) D
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Which of the following has not been crowned
as Miss World?

(1) Sushmita Sen (2) Aishwarya Rai
(3) Diana Hayden (4) Yukta Mukhi
Doldrum is an area of : -

(1) Low temperature  (2) Low pressure

(3) Low rainfall (4) Low humidity
'Majuli', the world's largest riverine island, is
surrounded by water of the river : -

(2) Ganga

(3) Brahmaputra (4) Nile

The first Chief Justice of India was : -

(1) S.R. Das (2) J.C. Shah

(3) Harilal J. Kania (4) Patanjali Shastri
'Vande Matram' was first published in : -

(1) Nandini (2) Vinay Patrika

(3) Anand Math (4) Gitanjali

'Prince of Wales Cup' is related with : -

(1) Golf (2) Badminton

(3) Football (4) Cricket
Megasthenese visited India during the reign
of :-

(1) Chandragupta Maurya

(2) Ashoka

(3) Chandragupta-II

(4) Harsha

The longest railway platform in the world is in :-
(1) India (2) Australia

(3) Irtaly (4) Germany

Who started the Saka Era, which is still used
by the Government of India?

(1) Kanishka (2) Ashoka

(3) Samudragupta (4) Vikramaditya
Whom does the President of India send his
resignation if he wants to quit the office : -
(1) Chief Justice of India

(2) Prime Minister

(3) Vice President of India

(4) Any of these

The author of book "What Went Wrong" is : -
(1) Sonia Gandhi (2) Kiran Bedi

(3) Arun Shourie (4) Seen Smith

An atomic pile is used for : -

(1) Amazon

(1) Producing X-rays

(2) Conducting nuclear fission

(3) Conducting thermonuclear fusion
(4) Accelerating atoms
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193. The term 'Carat' is used to express : - 193. ‘00 DIDIODODIONIOOOnIDooI ool Lboniaon

QoL -
(1) Shape of gold () Type of gold () DIONOON (2 DIO0000
(3) Purity of gold (4) Weight of gold (3) U000 0ot (4) U0 Omo
194. 'Panchayat' is the name of parliament of :- 194. [INIIHINIIOIOODNONDONIDOOO0N O
(1) Nepal (2) Spain (1) 00O (2) 00
(3) Iran (4) Bangladesh (3) 0 (4) 000D
195. 'Damodar river' is the sorrow of :- 195. 000000 O OOmITool DI 0o0 0o oo
(1) Maharashtra (2) Bengal (1) 000000 ) OO
(3) Nagaland (4) Assam (3) 0O 4 000
196. 'Lira' is the currency of which of the following | 196. [UIUI0IOIDOIOOT O OO O OO
countries? (1) 00 (2) 100000
(1) Turkey (2) Vietnam
(3) France (4) Philippines (3) 0O (4) 100070
197. Which is the highest gallantry award in India? | 197. [IUIUIO000I000T 0000 OMIOO
(1) Mahavir Chakra  (2) Shaurya Chakra (1) 0Iooroo (2) U
(3) Param Vir Chakra (4) None of these (3) llo0mod (4) 0000 00 0000 ooz
198. Which religion is followed by the maximum | 198. [HID0I000IOOIO00CIOOMOI0I000MOI00
people in the world? (1) 0000 @) 00
(1) Islam (2) Buddhism
(3) Christianity (4) Hinduism (3) 000 (4) 00
199. Alzeimer's day is celebrated in which month? | 199. OUIUNUIIINOONOOIODOIOI OO U000
(1) August (2) September (1) 0000 (2) (00000
(3) November (4) December (3) U000 (4) 00000
200. 'Olive branch' is a sign of : - 200. 07O 000 TooOool oridoon bomo o -
(1) War (2) Peace (1) 0O (2) 00
(3) Defeat (4) Conquest (3) U000 4) 1000
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